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This electrical contact (switch) is linked to /\ Norm
one of the turnouts at either end of crossover T1. v TS5
The contact should close, connecting terminal T1 to C, Tl ~O—F Rev T1 turnout
when the turnout is lined for the crossover (Reverse position). [ inputs
It should open when the turnout is lined for the straight-
through track (Normal position).
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This electrical contact (switch) is linked to /\ Norm
one of the turnouts at either end of crossover T2. v TS5
The contact should close, connecting terminal T2 to C, T2 O—F Rev T2 turnout
when the turnout is lined for the crossover (Reverse position). [ inputs

It should open when the turnout is lined for the straight-
through track (Normal position). Planning template, single crossover.
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